GMF ANALYSIS PAPER TWO - 2004
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$5.60 per student

c)i)  
392 - (2 x 80) 

= 232



$232
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0.4 = 580


580 sausages
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Cost = $1960
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700 boxes
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iii)


$3.36 each
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2a)



where
w = width

b)
6w = 54


  w = 9

length   = 2w


= 2 x 9


= 18

Length = 18 m and width = 9 m
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Area = 58m2
d)  
Let   h = cost of hamburger

     
Let   d = cost of a drink

4h + d = 14.40       -1

5h + 7d = 27.20     -2

e) 
28h + 7d = 100.8     -1'

      
5h + 7d = 27.20       -2


1' - 2

  
23h = 73.6

h = 3.20

Let h = 3.20 in 1

4 x 3.20 + d = 14.40

12.80 + d = 14.40

d = 1.60

Therefore 1 hamburger costs $3.20 and a drink $1.60.

3. 

a)

	
	English
	History

	Mean
	62
	57

	Q1
	57
	45

	Median
	62
	60

	Q3
	70
	69

	Min
	30
	12

	Max
	92
	89

	IQR
	13
	24

	Range
	62
	77


b)
English


1.5 x IQR = 19.5


Q1 - 19.5 = 37.5


Q3 + 19.5 = 89.5

Therefore 30, 35 & 92 are outliers.

History


1.5 x IQR = 36


Q1 - 36 = 9


Q3 + 36 = 105

Therefore no outliers.

c)
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d) History: median of 60, symmetric, range of 77. English median of 62, positive skew, range of 62 with 3 outliers.

e)
English.
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f)

g) History = 1.06 x English -7.62

h) Two points (10, 2.98) & (50, 45)

4. a)
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P(6, 3)

 

H(0, 2)

 

S(3, 5)
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c)
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d)
M = 
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5.a
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c) 

By the start of the 9th year he will       have 990 comics.
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d) Value = 

Value of collection is $3477.82.
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